o 16

(EDGE OF GLASS)

THTLE:

A3 ) 2244l

PROJECTED CAPACITIVE MODELS ONLY

.

2.3
(FOAM SEAL
ALL AROUND)

477.64

(ACTIVE AREA)

269. 11
(ACTIVE AREA)

\

311
(EDGE OF GLASS)

— 138.9

[

S &0 oLEBo

- 204
M4 THREADS,

0126

X4

DIMENS TONS ARE

I[N MILLIMETERS

-— 38.5
(Max. 40.5mm)

307.6

204
M4 THREADS, X4

e 100 —— M4 THREAD,
SCREW DEPTH 7mm FROM

MAX .

MOUNT ING SURFACE. X4

VESA MOUNT

SHEE T © OF 9

MS60 |

37

DATE: 03/

06/195

REV:

J




>SN cony — —

220 200

TITLE: 22431 / 2244L
PROJECTED CAPACITIVE MODELS ONLY
564 6 RECOMMENDED CUSTOMER PANEL CUT-OQUT
5426 45 — R 542 .6
220 220
} . ADJUSTMENT RANGE -
I U I R p— 500
0 )
o0 ! oo
.
O | R9.5to_2//%
(o] (o]
o 519402 | ;
|
_] . 31440 2
337.6
359 6 - - - _ _ _ _ _
|
|
o :
|
\ Y
o0 | q\c\

200 220 337.6

CLEARANCE HOLE FOR M4 SCREW, x3

M4 THREADED HOLE, x8

£

NSTALLATION NOTES:
ATTACH BRACKET

WITH CUSTOMER PANEL.
PLACE TOUCHMONITOR

TAKING CARE NOT TO DAMAGE FOAM SEAL
SECURE TOUCHMONITOR TO BRACKET "B" FROM BEHIND
WITH M4 HEX HEAD SCREWS

ATTACH BRACKET "B" TO BRACKET "C"
ADJUST DEPTH OF BRACKET "B" SO MONITOR

ki

E.

BRACKET "C"

DIMENS TONS ARE

ATTACH BRACKET "A" TO TOUCHMONITOR WITH M4 LOW PROFILE SCREWS C(INCLUDED) <EE§6§%XBLE)
"C" TO CUSTOMER PANEL PER DRAWING
WITH M4 HEX HEAD SCREWS CINCLUDED)
S FLUSH
INTO CUSTOMER PANEL OPENING Fi
CINCLUDED) FOAM SEAL
TOUCHSCREEN SURFACE —CUSTOMER PANEL
CAUTION: WHEN ASSEMBLED, TOUCHSCREEN SURFACE
MUST NOT PROTRUDE BEYOND CUSTOMER PANEL SURFACE
ANYWHERE AROUND BORDER OF SCREEN
a—— :
==\ o>
\\%/
\§
%i CUSTOMER PANEL
..\\\\“\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\‘/ | /
SECTION [~ I—A
[N MILLIMETERS SCALE  5.000

N

\\MOUNTNG HOLE, x8

|

[F CUSTOMER PANEL

M4 THREAD

S METAL,

CLEARANCE HOLE FOR M4 THREADS

ON BRACKET, X8

TOUCHMONT TOR

:

> &l/

FOAM SEAL

BRACKET "A"

SHeel [ OF 9

MS60 137

DATE: 03/06/15

REV: J

BLIND HOLE,




	Sheet 6
	Views
	new_view_57
	right_58
	right_59
	bottom_60


	Sheet 7
	Views
	new_view_62
	new_view_64
	right_65
	bottom_66
	new_view_68
	bottom_69



